ol z K 2oy @

8 -
. ®: C+H
g ®e 33T

th

Gir Lt L A% V-7 (BT TR

qtq
- 132

L AtB=073 g

oi= 42
44 -251 b¢-2.5.8 450, J
o Cos B = 40

' 4 S
£0AB = 2L RITEI GATBY

|
0S8 = =
2 BoC= 62293

o

2% §4 +£q-2-07 0S5he
2§00, = 86

0059, = %
Wzl ] SodTl

l‘s‘r)%S'G} = |0

s = e

PEEBR=[2
ob.ve~ (&)

o3RG —ay x Vi
W FRs pA BCIT eI, £ Vz~"[{vlz"'g"le

—) = iy iy " R -5 Ratd
MUbe @ Bsoped  sSTEeT Mf"%aﬁf‘b
B+ LFP-TE=0 255= -3
208 + 644 = 44 -@ 5.,,_7%
RoKy!
’ l0gS + v X =20

_)(0031-300#12/0

T et -0
Y

Y



